

ROMANIAN MATHEMATICAL MAGAZINE

UP.573 Let be $\lambda > 1$ fixed. Find:

$$\lim_{n \rightarrow \infty} \sum_{k=0}^n \frac{k+1}{\lambda^k}$$

Proposed by Marin Chirciu – Romania

Solution by proposer

We have the sum of the geometric progression:

$$1 + x + x^2 + \dots + x^n = \frac{x^{n+1} - 1}{x - 1}, x \neq 1.$$

We derive the equality above:

$$1 + 2x + 3x^2 + \dots + nx^{n-1} = \left(\frac{x^{n+1} - 1}{x - 1} \right)' = \frac{nx^{n+1} - (n+1)x^n + 1}{(x-1)^2}.$$

Multiplying by $x, x \neq 0$, the above equality:

$$x + 2x^2 + 3x^3 + \dots + nx^n = \frac{nx^{n+2} - (n+1)x^{n+1} + x}{(x-1)^2}.$$

Replacing $x = \frac{1}{\lambda}$ we obtain:

$$\sum_{k=0}^n \frac{k+1}{\lambda^k} = \frac{1}{\lambda^k} = \frac{1}{\lambda} + \frac{1}{\lambda^2} + \frac{3}{\lambda^3} + \dots + \frac{n}{\lambda^n} = \frac{\frac{n}{\lambda^{n+2}} - \frac{n+1}{\lambda^{n+1}} + \frac{1}{\lambda}}{\left(\frac{1}{\lambda} - 1\right)^2}.$$

Because $\frac{n}{\lambda^{n+2}} \rightarrow 0$ and $\frac{n+1}{\lambda^{n+1}} \rightarrow 0$ it follows that $\frac{\frac{n}{\lambda^{n+2}} - \frac{n+1}{\lambda^{n+1}} + \frac{1}{\lambda}}{\left(\frac{1}{\lambda} - 1\right)^2} \rightarrow \frac{\lambda}{(\lambda-1)^2}$

Then:

$$\sum_{k=0}^n \frac{1}{\lambda^k} = 1 + \frac{1}{\lambda} + \frac{1}{\lambda^2} + \dots + \frac{1}{\lambda^n} = \frac{1 - \frac{1}{\lambda^{n+1}}}{1 - \frac{1}{\lambda}} \rightarrow \frac{\lambda}{\lambda - 1}$$

We obtain $\lim_{n \rightarrow \infty} \sum_{k=0}^n \frac{k}{\lambda^k} = \frac{\lambda}{(\lambda-1)^2}$ and $\lim_{n \rightarrow \infty} \sum_{k=0}^n \frac{1}{\lambda^k} = \frac{\lambda}{\lambda-1}$ so

$$\lim_{n \rightarrow \infty} \sum_{k=0}^n \frac{k+1}{\lambda^k} = \left(\frac{\lambda}{\lambda-1} \right)^2$$